yeiseq ueeAeiquiad uelenjabuad uepury

'€ Ad)s vda

yeltseq ueeAeiquiad ueewliauad uepury

T°€ AdXS vdd

yeltaeq 1eybueiad el1ay uenjes uejelbay] 194 uep weibold
bunsbueq efuejpg ueiebbuy ueeuesyedd usWNYOQ UueDUY

1°C°C AdXS vda

yesaeq 1eybueiad el1ay uenjes

uejelbay uep weibold ninuaw bBunsbue efueag iseinjideyoy Z'Z AdS vdad
yesaeq 1eybueiad el1ay uenjes

bunsbue yepi] eluejag ueiebbuy ueeuesye|ad uswny)oq uepury Tz ad)is vdda
yesaeq 1eybueiad elay|

uenies uejedepuad ueiebbuy ueeuesyeed UsWNOQ UBIDUIRY T ad)s vda
yelaeq 1eybueiad

e(1oy uenies ueiebbuy ueeuesyelod uswWNYOoq uese)bury ad)s vdad

AITNINAYOL VINYN Jaoi

LTOC NVIVDONVY NNHV.L
HYY3vad LVIIVIIUN3S

(adis vda)
HYY3VA LY)IONVYIId VCaIN NVYNLYS
NYIVOONY NVVNVSHV1Id NIWNIOA

MAVAAVLNVYE V1O HVYLNIY3IWAd

[n¥vayvrNva|




R T

T uewejeH QdS vdd Jnwod

800 T €0¢66T 8¢60596T "dIN
IS'IW ‘HV1INAAVY AIVS °H 'sid

yeaaeq sHe}a.nos
INnsAusy
/T10z AMenuer 1T ‘niegleflueg

00'0 000 000 000 000 ueeAeiquiad ueenjpbuad [

000 000 000 000 000 ueeAelquiad ueewdudd | T'€

00000805 THb'T 00000°0TL'T 00°005°89"p 00'006°8£b°5Z 00'009'058°60%°T bunsbueq efueleg | z'c

000 000 000 000 000 bunsbue sepil efueeg | 1°C
000 000 000 000 000 uejedepuad T
L 9 S 4 € [4 T

HVYIWNC AL III II I NVIVIN ‘ON

NVINMIYL

NVINMIYNLY3Id HVY3IVA LVIDNVYd VLIIN NYNLYS NVIVOONY NVYVNVSYV13d VNYONIY

(000007805 T++'T) (11s143a) / sn1dins
00°000°£88°9/E'T eser uep bueleg efuejsg TS
00'000°529°%9 lemebaq efuejeg 1°C°S§
00000805 T#H'T SNNSONV1 VCNY1Ig s
00000805 T#b'T VCNV13g S

€ r4 T
(du) ONINIIY
HVIWNC NVIViN 3ao

ISYSINYOYO NVIOVE-HYYAVA LVIIVIIINIS H0°€0° 10" H :  IsesiuebiQ jun qns
HYYIVA LYIYVLIINIS €010 P ¢ isesjuebiQ
ueyejuLawad 1sensiuiwpy buefunuad 1sbung ueyejuliawad uesnin 10" v : ueyejuridwad uesnin

/10 uesebbuy unyel
MAVEAVLNVYE V1O HVLNIY3IW3d

adis vda HYY3VvA LV)IONVI3d VLAINA NVNLVS
Jljhw.iog NVIVOONV NVVNVSYV13d NIWNIOA NVSVIDNIY

:¢<m¢.<_.z<m




